uoboooooooooboooboo0oOoooOooOoobOboO00obooOoobooOoOoOoOoOboOoOobOOoOOooon
gooooooooooooooooop 2000000000000 OOOOOOOOOOOOOOoOoOOo

1. 000000000BIiss 19670
ooob0O He:oooooooood
0000 H:000000000Mmm
0000 000000000000 O00O0O0OO00Mm
gboooobobooboooobooooboboobooobobooboboobobooboboboo
o0oo0ooo0oO0ooOo0oO0oOo0OoO0oO0o0OO0bOO0o0O0bOO0O0O0bOO0O0OO0bOOoOoOO0o0o0
Oo0o0o00005%01%2000000000000000000000000000000000O00O
00o0o00o0o00oO0000oO0o0oOoO0oOoooO0oaon
gbobooobodboooobooboobobooboobooboooboobboobbOoboaon
00000000 WSDO wholly significant difference0 D 000000000000

WSD:{q\/MSe/n, n=n;=n;

(D
g\ MS (1 /ni+1/n)) /2, ni#n;

On=n0000 WSDOOODOOODOOOODOOOOOOOOOm#n,0000000000000
000000000000M10000¢00000000000000000 “000000000
00000000000 2000000 X0X;000000X>X,>X,0000X,000 mO0O
00 MS. 0000000000000
ooooood
e |X,—X;|<WSDOOOODODODODOODOOMODOODODOOM
e |X,-X;/>WSDOOOO000O000000MOO0000000m
0Do000000000000000
0Da0000000000000000000000000000000000000m=k0000
wWSDDOODOOO0OOD ¢0000000k0000000000000000000 ¢000
00000000000000000000000000000000000000000000
0oooooooood
ObOm=k-1000000200000000000000000WSD000O0O00O ¢0O00
0000mO000000000000000000 ¢,00k000000000000000
0000 ¢O00000000000000qg=(gm+q)/20000
OcOm=k-20k-30...02000000200000000000000000000000000
ooooood
0000000000000000000000000000000 «0000



